EP 704
Quiz Sample
2K4-XII-07
PART ONE: MULTIPLE CHOICE 50 marks (40 correct is a perfect mark) Please circle the right answer
1. a b c d e 

2. a b c d e

3. a b c d e

4. a b c d e

5. a b c d e

6. a b c d e

7. a b c d e

8. a b c d e

9. a b c d e

10. a b c d e 
11. a b c d e

12. a b c d e

13. a b c d e

14. a b c d e

15. a b c d e

16. a b c d e

17. a b c d e

18. a b c d e

19. a b c d e

20. a b c d e

21. a b c d e

22. a b c d e

23. a b c d e

24. a b c d e

25. a b c d e

26. a b c d e

27. a b c d e

28. a b c d e

29. a b c d e

30. a b c d e

31. a b c d e

32. a b c d e

33. a b c d e

34. a b c d e

35. a b c d e

36. a b c d e

37. a b c d e

38. a b c d e

39. a b c d e

40. a b c d e

41. a b c d e

42. a b c d e

43. a b c d e

44. a b c d e

45. a b c d e

1. The metric FPPM refers to

a. sizing

b. a rate

c. KLOCs

d. the Industrial Averages

2. The point of a WBS dictionary is to

a. Establish a common project vocabulary

b. Link the numeric box numbers to an alphabetic name

c. Expand acronyms

d. Map French names into English and vv

3.
 Suppose a WBS root has 4 children and each child has 4 children and there are 3 levels to the WBS. Then you would have about this many boxes:

a.
42
b. 43
c. 42 + 4+1
d. whole lotta boxen

4.         When making an authorized fix to a baselined module, you would check this out of the CCM vault

a. The module

b. The module and all modules in that build

c. The module and the smallest set of modules that interact with it

d. The module and the largest set of modules that interact with it

5.
As a general rule, the PM should spend this amount of time communicating:
a. 10%

b. 20%

c. 75%

d. 90%

6.
If you refuse to change scope/requirements throughout a complicated, risky project and the project is a couple of years long, this will certainly happen:

a. You will build something no one wants

b. You will be a hero as you have kept scope from creeping

c. Your project will be on time and on budget

d. You will be made an ADM

7.
The purpose of a Project Morgue is to

a. Hide hideous project cadavers

b. Ice failed projects

c. Scare newbies

d. Learn from past successes

8.
Which of these is a non-functional requirement?

a. high quality

b. response time of less than 1/10th of a second

c. specific weight of n kg

d. black in colour

9.
One of the requirements of a project states: the developer must use a 1 Gigahertz Intel processor. This is an example of a requirement that is 

a. a motherhood statement

b. ambiguous

c. a non-functional

d. a design directive

10. The hierarchical model for organizations

a. does not align with PM

b. aligns with PM

c. supports rapid change

d. permits them to crush their competitors like bugs

11. Projects can often be optimized for Shortest Schedule, Least Cost, and Best Quality:

a. simultaneously, all three can be achieved by careful scheduling and budget control

b. so that any two of the above can be achieved at a given time, but not all three

c. we are not as concerned with optimization, as we are with balance

d. none of the above listed can be optimized, Software projects are too complex

12. The term “leakage costs OOM thru each stage” means that

a. the defects are leaking out everywhere

b. Object Oriented Management is involved

c. defects are getting beyond their creation phase

d. the cost of removing defects beyond their creation phase increases by an order of magnitude for each phase slipped

13. If someone told you that they were coding at the 6-sigma level, you would conclude that

a. they were lying

b. they were producing 6 defects per function point

c. they were producing 3.4 defects per millions lines of code

d. they were producing 6 defects per million lines of code

14. If you had a team of 10, you would have this many lines of possible communications

a. 10

b. 45

c. 55

d. 100
15. If you estimated the time to do a work package as most likely 10, most optimistic, 5 and 27 as the most pessimistic, you would use this 
a. 10

b. 11

c. 12

d. 20
16. You prioritize your risks according to their severity and concentrate only on the 3 most critical you would be using this rule:

a. The Pareto Principle

b. The Rule of 6

c. The Rule of 2

d. SWAG

17.
A hierarchical organization is characterized by the fact(s) that

a. your labour force is unskilled

b. people like to know where they stand in the org

c. people like to think they will someday be at the top

d. all of the above

18.
You must estimate the number of files that Canadians keep on their personal computers. Your best estimate is

a. 1 megafile

b. 100 megafiles

c. 12 gigafiles

d. 12 terafiles

19.
Which project management process does Team Development under Project Human Resource Management belong to? 

a. planning

b. execution

c. control

d. termination

20.
What type of project organization does the project manager have total authority? 

a. functional

b. strong matrix

c. balanced matrix

d. projectized
21.
Conflict should be viewed as

a. counter-productive

b. being caused by trouble-makers

c. avoidable

d. beneficial

22.       Bad news should be

a. passed up as soon as possible to the PHB

b. hidden from the PHB


c. spun to appear better

d. hushed up

23. Conflicts in project management are most likely to occur:
a. At project interfaces

b. Within the project team

c. During project planning
d. Anytime

24. Fast tracking means you:
a. Speed up the project through paralleling tasks

b. Swap one task for another
c. Reduce the number of tasks possible

d. Increase investment in critical activities
25. A negative cost variance indicates

a. The costs incurred are exceeding planned spending

b. Earned value is not keeping up with costs incurred

c. Earned value is exceeding costs incurred

d. Costs incurred are less than planned sending

26. In which of the following organizations does the project manager have the least authority?

a. Weak matrix
b. Strong matrix

c. Functional

d. Projectized

27. A Work Breakdown Structure:

a. Ensures all work is identified

b. Provides the project sponsor with a time-phased task summary

c. Allocates cost to work packages

d. Assigns responsibility and instills accountability
28. A formal written response is most suitable in which of the following circumstances:

a. Discussing work assignments

b. Directing the contractor to make changes

c. When the receiver is memory-challenged

d. When contacting the client is necessary
29. The subdivision of major project deliverables, as identified in the scope statement, into smaller more manageable components, is called:

a. Parametric estimation

b. Scope definition

c. Feasibility analysis

d. Cost-benefit analysis

30. In a 10% economy, which of the following amounts (closest) is the most you would be willing to invest in year 2 of your project plan in order to save $100,000 in year 5?

a. $25,000

b. $50,000

c. $75,000

d. $100,000

31. At Fooze Inc:, the hourly wage for workers is $14.00 /hr. The annual audit shows that fringe benefits cost 30% of basic wages and that overhead costs are 60% of wages plus fringe benefits. What is the burdened hourly wage for a worker at Fooze?

a. $27.14

b. $28.96

c. $30.03

d. $29.12

32.  “Invisible” quality refers to

a. quality that cannot be seen

b. the cost of inspections

c. the cost of testing

d. the cost of rework

33. Your schedule analysis has shown that your project has a high likelihood of experiencing schedule underrun. You know this because the EV is
a. Higher than the AC

b. Lower than the AC

c. Higher than the WP

d. Lower than the WP

34. The primary difference between strong and weak matrix organizations is

a. Number of people assigned to the project

b. Number of functional staff assigned to the project

c. Poor project management experience

d. Relative influence held by the project manager

35. The lowest level of the WBS is the

a. Work package

b. Work assignment

c. Milestone

d. Signoff

36. Which of the following organizational structures is most appropriate for high risk, highly sensitive projects:

a. Functional

b. Strong matrix

c. Projectized

d. Sensitized
37. The ability to influence the outcome of a project _________ with time
a. Increases exponentially

b. Increases linearly

c. Decreases exponentially

d. Decreases linearly

38. A cost-benefit ratio of more than 1 means that
a. The project will suffer loss

b. The project might suffer lost

c. The project will make a profit

d. The project should make a profit
39. A positive Schedule Variance and negative Cost Variance indicates

a. The project is over budget and ahead of schedule

b. The project is under budget and ahead of schedule

c. The project is over budget and behind schedule

d. The project is under budget and behind schedule

40. Which of the following is not a triple constraint for projects? 

a.
 time

b.
 cost

c.
 risk
d.
 scope

41. You have been hired to plant trees for 10 days.  You are supposed to plant 10 trees per day and you are paid $10 for each tree planted.  After 4 days, you planted 50 trees and you were paid $500.  What are the SPI and CPI for the project? 

a. SPI=0.8, CPI=1.0

b. SPI=1.25, CPI=1.0

c. SPI=1.0, CPI=0.8

d. SPI=1.0, CPI=1.25

42. Project sponsors have the greatest influence on the project during: 

a. planning

b. execution

c. control

d. termination

43.
The estimate for a task is O=3, P=7 and M= 4. What is the standard deviation of the task?


a.
5/6


b.
2/3


c.
1 ½


d.
5 2/3

44.
Lag means:


a.
amount of time a task can be delayed without delaying the project


b.
amount of time a task can be delayed without delaying the early start date of the successor


c.
waiting time


d.
difference between the forward pass and the backward pass

45.
Which estimating method uses one time estimate for each task?


a.
PERT


b.
CPM


c.
Monte Carlo


d.
Control charting



PART TWO 50 Marks. Each Question is worth 10 marks

1.
Give one sentence answers to each of the following:

1. Your PHB refuses to accept your charter yet will not let you resign from the project. What is your next step?

2. How would you as a PM, estimate the Prime Rate for the next year and why would you care?
3. What does an IRR of 18% mean?
4. What is a SEV 0 error?
5. How does scope differ from requirements?

6. How is the EV in EVA attained?

7. What is the Pareto Principle?

8. What is the major difference between weak and strong matrix organizations?
2.  Suppose that you had a project that was targeted to finish in 12 months, at a cost of $500,000. The project is mandated by an act of Queen’s Park. After 3 months, the EV stats look like this:

	Time
	BCWS
	ACWP
	BCWP

	1
	5K
	3K
	2K

	2
	15K
	9K
	4K

	3
	40K
	20K
	5.5K


i) when will it finish?

ii) What will it cost?

iii) What options do you have at this point and what would you do and why
3. The minister in charge of HRDC, J. Stewart, has called you into her office. She-who-must-be-obeyed has put you in charge of damage-reclamation at HRDC. As you know, the Press and the Loyal Opposition hold that the 459 projects in her department are over a Gig over budget. She demands two things of you; 1) prove that HRDC is monitoring its money effectively and 2) red-flag any project the slightest bit over budget. What 3 things will you do to achieve her goals? Be very specific!

4. You have 4 project teams developing code at Fooze Inc. You decide to measure their quality in terms of defects/unit effort. For 8 weeks, you record the following:


1
1.2
0.7
0.8
0.9


2
2.0
1.9
0.9
0.8


3
1.3
2.0
3.3
1.3


4
2.2
3.3
2.2
0.6


5
0.5
2.5
2.2
5.8


6
2.1
6.1
1.1
4.4


7
3.2
6.3
4.4
2.1


8
2.2
4.4
2.9
0.4

Plot the appropriate control chart. Are you in control? Why or why not?

5. Consider the following table
Task
Preceding
Estimation


   Task

 in months

START

   0

D
START
   4

A
START
   6

F
D,A

   7

E
D

   8

G
F,E

   5

B
F

   5

H
G

   7

C
H

   8

END
C,B

   0

i) draw the precedence diagram and do the forward pass

ii) what is the critical path?

iii) What is the float of D




























